Ma thsi

Development Team

Student Activity: To investigate absolute value

Use in connection with the interactive file, ‘Absolute Value’, on the Student’s CD.

Move sliders to change variables

[x-2.3<38

|7 Click to see when the absolute value of f(x)
|7 Click to see when the absolute value of f(x) = g(x)
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a. Complete the following table:
X X-2 [x-2]

b. Use the information in the above table to draw a graph of f(x) = |x - 2]|. Check
your graph against the interactive file.
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c. On the same diagram draw g(x) = 3.

d. At what points do f(x) and g(x) intersect?

e. Use your graph to determine the values of x for which |x - 2|<3.

f. Use your graph to determine the values of x for which |x - 2|>3.

g. Atthe points of intersection of f(x) = g(x), is [x - 2|>3, |x- 2|<3 or |x-2]|=3?

h. Given |x| =5, is it true that x=5 and —x = 5? Explain.

i. Given |x-2| <3,isittruethatx—2<5and—-(x-2)<5?

j. Solve the 2 inequalities in the above section of the question using algebra.
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k. Did the solution you got by algebra agree with the solution you got from the
graph above? If not, recheck your work.

2.
a. Complete the following table:
X N X_l‘
2 2
-5
-4
-3
-2
-1
0
1
2
3
b. Using the information from the above table, draw a graph of f(x) = x—% and
check your graph against the interactive file.
|
=
S ]
= |
3
=
1]
T T T T T T o T T T T T T
7 = s a a 2 BE 1 = a a s s
= |

c. On the same diagram draw g(x) = 2.

d. Where do f(x) and g(x) intersect?

e. Use your graph to determine the values of x for which <2.
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f. Use your graph, to determine the values of x for which x—% > 2.

g. At the points of intersection of f(x) = g(x) is x—% >2, x—% <2or

x—l‘ =27
2

h. Given x—%<2isittruethat x—%<5and—(x—%)<5?

i. Solve the 2 inequalities in the above section of the question using algebra.

j. Did the solution you got by algebra agree with the solution you got from the
graph? If not, recheck your work.
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